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(1) You must write t} |
: st write the subject-code / paper-c : - ;
of your answer-book paper-code 04/A in the box pr ovided on the title page
(ii)  Make sure fhm‘ the answer-book contains 24 pages (including title page) and are
properly serialled as soon as you receive il.
(iit)  Question/s attempted after leaving blank pagels in the answer-book would not be
cvaluated.
(iv)  All questions are compulsory.

(v) Part A has Questions No. from 1 to 3.
Question No. 1 has 16 questions of Multiple Choice of 1 mark each.

Questions No. 2 has 8 questions of True/ False of 1 mark cach.
Questions No. 3 has 8 questions of Fill in the Blanks of 1 mark each.

Part B has Questions No. from 4 to 11 each of 2 marks.
Part C has Questions No. from 12 to 16 each of 4 marks and {

in Question Number 13, 14 and 16.
(viti) Part D has Questions No. from 17 and 18 each of 6 mar

(o)
here s internal choice

(oir)
ks and there is internal choice

in both questions. | |
(ix) In q“ustions on (‘ﬂnstruction, make drawing neatly and exactly as per gen
X =t

mmsuremen! using geumetrwal instruments. —

Questions related 1o geometry should be solved by drawing PPTF
(x) yestions e

‘ llowed.

(xi) Use of Calculator ¥ not a N CTur over
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This part has questions of I mark cach :

Part A
fﬁXf:fﬁ

1.  Choose the right option in the following questions :

(1)

(11)

(111)

(iv)

(V1)

04/A-X

Which of the following rational numbers will have non-terminating decimal

expansion ? 1
12 1
) = -
(a c (b) :
13 17
(c) — ol
c 7 (d) 3
How many zeroes can a quadratic polynomial not have ? 1
(a) 1 (b) 2
(¢) 3 (d 0

If o and B are the zeroes of the quadratic polynomial ax” + bx + ¢, then

a+fp= , 1
@) =2 b 2

a a
(0 — d =

a a
If 3x + 2y = 5 and 3x — 2y = 1, then what is the value of y ? 1
(a) 1 (b) 2
(¢) -1 (d) O
If a pair of linear equations of two variables is consistent, then the lines
representing these equations will be P 1
(a) parallel (b) always intersecting
(¢) always coincident (d) intersecting or coincident
A pair of linear equations a;x + byy + ¢, = 0 and agx + byy + ¢, = 0 has a
unique solution, if ; 1

b
(a) R P h 2L
a9 bo ¢9 ag b

(c) 2. by . (d) None of these

14
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(vii ic | '
vil) A quadratic equation ax? + by + ¢ = () has two rea] and unequal roots, if

T —
e I — s —

3 D>o (b) D=0
iﬂ) D<0 (d) D-0
(vi1i) Find the fifth term of the AP, 8, 13, 18,23, ............ ; 1
(a) 29 (b) 28
(¢) 30 (d) 31
(ix) The distance of any point P(3, 4) from the origin is : 1
(a) 7 (b) 7T
(e) b (d) 1
(x) sec’0-1-= . 1
~
Ad)  cosec? 0 (h) 8in%0)
(c) tan? () 5 (d) cos?0
(x1) Probability of an event E + Probability of an event ‘not E is = ; 1
(a) 2 (h) -1
(c) ] (d) 0
(xii) The circumference of acirele=  #radius. 1
|
(¢c) 2n (d) 9

(xiii) ABC and BDE are two equilateral triangles such that D is the mid-point of

BC. Ratio of the areas of triangles ABC and BDE 1s : 1
(a) 2:1 (h) 1:2
(¢) 4:1 (d) 1:4
(xiv) Which ﬂf; the following formula is not used to find the mean ? 1
fa) N B a2
Zfi Efi
4 \
f 121 ~cf
Hi41 1k d) I+ xh
oAt ( if; ) f
\ /
[Turn over
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(xv) The longest chord of the circle 18

(a)  Radius (b) Arc
()  Diameter (d) Segment
(xvi) The formula of curved surface area of a cylinder = I
(@) 2nrl (b) nrh
(¢)  2nrh (d) nrl
2. True/False: 8x 1=8
(i)  The distance of point (x, y) from origin 1s = sz +y? . (True/False) 1
(i)  The distance of a point P(2, 8) from x-axis is 8. (True/False) 1
(iii)  sin 0 = cos 0 for all values of 6. (True/False) ' 1
(iv)  Area of the sector of angle 6 = nr? e (True/False) 1
(v) Iftan A = cot B, then A + B = 90°. (True/False) 1
(vi) The quadratic formula of the quadratic equation = b% — 4ac. (True/False) 1
(vii) A cubical block of side 7 cm 1s surmounted by a hemisphere. The greatest
diameter the hemisphere can have 1s 7 cm. (True/False) 1
(viii) Mode is not a measure of central tendency. (True/False) .. 1
3.  Fill in the blanks: 8% 1=8
(i} The product of the zeroes of a quadratic polynomial 2x% - Tx + 3= 7
(ii) In a right angled triangle, the square of hypotenuse is equal to the sum of
the of the other two sides. 1
(iii) A line which intersects a circle at two points is called _of the
circle. 1
(iv) The common difference of the A.P. 2,5, 8,11, ............ = _ 1
04/A-X 16
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(v) A die is thrown once. The probability of gotting a prime number = _

l

(v} The formula of curved surlace aron of tho [rustum of tho conow . I

(vi1) The probability of an event is always greater thanorequalto ., 1

(viii)Area of segment of a circle = Area of the corresponding wector -~ | 1

Part B

This part has questions of 2 marks each : Bx2=16
4.  Find the HCF of 510 and 92. 4
5.  Find the zeroes of a quadratic polynomial 4u? + 8u. 2

6. On comparing the ratios 21 ; L and 51—, find oul whether the pair of lincar
a9 bo Co
equations 5x — 4y = 5 and 9x + 3y = 12 is consistent or inconsistent. 2

7. Find the value of y for which the distance between the points P2, -3) and

Q(10, y) is 10 units. https://www.punjabboardonline.com 2
8. If sin (18° — A) = cos (2A — 92°), then find the value of A. 2
9. In the figure given below DE || BC, then find the value of AD. ' 2
\
i

1:8 cin

—

5.4 ¢
7-2 cm 54 cm

C

ards. Calculate the probability
10. One card 1s drawn from a well shuffled deck of 52 cards. Calcula D ,

that the card will be a face card.

' ! ' _if the angle of the sector
11. Find the area of a sector of a circle with radius 6 cm, 1 :

1s 90°.
PART C

Hx4=20

This part has questions of 4 marks each :

! ' ars) 3 years ago and 5 years
rocals of Rehman's ages (in ye
12. The sum of the recip \
from NOw 18 -]i Find his present age.
| | 17 [Turn over
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18. Find the sum of first 61 terms of an A.P. whose second and third terms are 14 and

; 4
18 respectively.
OR
Match the columns : ‘ 4.
Column I Column I
(1) ’ nth term of an A.P. (a) 8p41—8,
(ii) Common difference of an A.P. (b) a+(n-1d
n
(iii) Common difference of 2, 5, 8, 11, ............ (c) Sn = 5 [2a + (n — 1)d]
(iv) Sum of n terms of an A.P. d 3
14. The angles of elevation of the top of a tower from two points at a distance of 4 m
and 9 m from the base of the tower and in the same straight line with it are
complementary angles. Prove that the height of the tower 1s 6 m. o
OR
The angle of elevation of the top of the tower from a point on the ground, which is
30 m away from the foot of the tower is 30°. Find the height of the tower. o
15. Construct a triangle of sides 5 em, 6 cm and 7 em and then construct another
triangle similar to it whose sides are é— times of the corresponding sides of the
first triangle. | 4
16. How many silver coins, 175 cm in diameter and of thickness 2 mm, must be
melted to form a cuboid of dimensions 5-5cem x 10 em x 3:5 ¢cm ? 4
OR
A drinking glass is in the shape of a frustum of a cone of height 14 ¢m. The
diameters of its circular ends are 4 cm and 2 cm. Find the capacity of the glass. 4
Part D
&his part has questions of 6 marks each : 2%6=12

1% Prove that if a line is drawn parallel to one side of a triangle to intersect the other
two sides in distinct points, then the other two sides are divided in the same ratio. 6

OR

Prove that the tangent at any point of a circle is perpendicular to the radius
through the point of contact. 6

»O8M-X 18

(3 scanned with OKEN Scanner



18. The following distribution shows the daily pocket allowance -of hil am

locality. The mean pocket allowance is ¥ 18. Find the missing frequency f. 6

Daily pocket .

- - - = ~-21(21-23| 23-25
Number of ¢ 5 1
children 7 | 6 9 13 .
OR

The distribution below gives the weights of 30 students of a class. Find the
median weight of the students. 6
My
-fei{ghts 40 — 45|45 - 50|50 - 55|55 60|60 -65| 65—70 | 7075
(in kg) | -

Number of o a 8 6 6 q 9

students | I _
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